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W: They're almost done. Did you take a look at
the exhibition hall?

M: Yes, I did. You did a great job arranging all
the pictures.

( A= ) W: Is there anything you want to change?
M: Well, is it still possible to add some more
70l 2l 3]@l4]6] 5106 works? I took some nice photos during my
ABIHPIEREPIREINE trip.
Hlaeolzlolloll ol 5l @ W: Sure. Do you have them with you now?
wlolmwzleolws|lolwl ol 2| 6 M: No, but I can send you the photos by email.
a1l@l 221 | 231 0] 22| ®| 25| @ We can talk after you check them out.
%6 6l27l @ 28| 3] 29] @1 30| 6 W: Okay. Youre such a great artist. I'm so happy
3@ 321@| 330|342 @] 35| @ to exhibit your works at our gallery.
6l 2371338 6|39 G| 40| D M: Thanks for saying so. I'm also glad to work
11| D | 42| ® | 43| @ | 44| @ | 45| ® with you.
exhibition A A 3]
C ae ) 4 [BAGE] 793 tate) 97 3E dote
W: Hi, David. You look happy.
(Z495] 259 ZAL 2ga), M: I won a prize at .the science fair. Look at this
photo from the fair.
M: Hello, students. This is Mr. Watson, your vice

principal. I have an important announcement
for all of you.
two drinking fountains installed on each floor.
Unfortunately, due to repairs to the water

pipes, all the drinking fountains in the school

As you know, our school has

will be out of service starting from tomorrow.
It'll take a few days until the water pipes are
repaired. Until then, you won't be able to use
the school drinking fountains, so make sure
you bring your own water. We're very sorry

for the inconvenience. Thank you.

announcement <%

drinking fountain <-5~tf)
install A X]3}c}
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W:
M: Yes,

==

= =

W:

M:

© I think pastel

Jason, are you shopping online?
Alice. 'm going to buy some clothes.
Look! These are my picks.

. They look nice, but all of them are dark again

this time.
I think dark colors suit me well and I feel
more comfortable with them.

: I see your point. You always say that you

want to be more approachable though. Why
don’t you try other colors?

What colors would you recommend?

colors would be good. They
make the wearer appear more friendly.

I see. I'm worried they won’t look good on me
though.

- Just give it a try. You won't regret it.
All right. Tll go for the pastel clothes this
time.
Great. I'm sure you'll look more approachable
in them.
Thanks for your advice.

W: Wow! Congratulations. Oh, the prize ribbon is
on the wall above the board. Cool!

M: Yeah, I'm so proud.

W: You set up your board on the round table. I
see your topic was Lemon Battery.” What did
you do?

M: I showed how to make a battery using lemons.

W: Interesting. So that’s why there is a basket of
lemons next to the battery.

M: That’s right.

W: Who is this woman wearing a flower-patterned
dress?

M: That's my grandmother. She came to

congratulate me.

W: How nice! Oh, youre holding flowers in your
hand. They’re so beautiful.

M: Thanks. It was a great day.

board AlA
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3. [BAGE] qaRe BAS FEBT,

M: Amy, are you ready for your presentation for
history class this afternoon?

W: Yes, James. I just need to check the file
again. [Clicking sound/ Oh, no. What have I
done?

M: What happened?

W: I worked on the presentation file until late last
night. I guess I forgot to save the final
version.

M: Oh, dear. Do you need to do it all again?

W: Not really. Fortunately, I printed out the final

version and brought it with me. It won't take
long to update the file.
M: That’s good. Do you have a handout for the
class?
W: Yes, I printed
copies of it yet.
M: T'll go to the library and do it for you.
W: That’s so kind of you. Thanks a lot.
M: No problem.

it out, but I haven't made

M:
W:

Hi, Miranda.

Oh, hi, Henry. I didn’t expect you to be here
today. [ thought still  traveling
around in Switzerland.

you were

I came back earlier than scheduled. I just
stopped by to see how the preparations for

the exhibition are going.

10
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M: Honey, we need to buy swim fins for Ben.
He's moving up to the advanced swimming
class!

W: Oh, that's right. Let’'s buy them online.
[Typing sound] Oh, these fins look good. What
do you think?




